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QUESTION 1

Which two storage objects exist in Informix? (Choose two.) 

A. dbspace 

B. flash space 

C. smart rowspace 

D. smart blobspace 

E. encrypted space 

Correct Answer: AD 

 

QUESTION 2

Which command would you execute to restore to a specific moment-in-time? 

A. onbar -t timestamp 

B. onbar -r -log lognum 

C. onbar -r -t timestamp 

D. onbar -r -l timestamp 

Correct Answer: C 

 

QUESTION 3

What is the only isolation level available on an unlogged database? 

A. Dirty Read 

B. Cursor Stability 

C. Committed Read 

D. Repeatable Read 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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In the exhibit, which statement is true regarding the update statement of Client 2 if both of the clients are connected to
the same logged database? 

A. Client 2 will update col2 of the rows having col1=20. 

B. Client 2 will return successfully without updating any rows. 

C. Client 2 will keep waiting for client 1 to finish its transaction. 

D. Client 2 will get an error that the "record is locked" or the "table is locked". 

Correct Answer: D 

 

QUESTION 5

Which configuration parameter allows you to reduce the dependency on local OS user accounts and to enable a DBSA
to grant database server access to specific users without the OS user accounts? 

A. USERMAPPING 

B. IFX_EXTEND_ROLE 

C. SECURITY_LOCALCONNECTION 

D. ADMIN_USER_MODE_WITH_DBSA 

Correct Answer: A 
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